EXAM FM QUESTIONS OF THE WEEK

S. Broverman, 2007

Week of March 19/07

A 10 year bond with annual coupons at rate 2% has an annual effective yield rate of 6%.

An 11 year bond with annual coupons at rate % also has an annual effective yield rate of 6%.
Both bonds have face amount and redemption amount of 100. The two bonds have the same
Macaulay duration. Calculate r.

A) Lessthan 2% B) At least 2% but less than 2.5% C) At least 2.5% but less than 3%
D) At least 3% but less than 3.5% E) At least 3.5%

The solution can be found below.



Week of March 19/07 - Solution
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Solving for r resultsin » = .0385. Answer: E



